Bhagavad-Gita

Chapter 5

A. Arjuna’s confusion: To renounce work or work in devotion?
Krishna answers:

Renunciation




Work in Devotion

1.  Does not ___________


1.  purifies

2.  Insufficient for _______________

2.  Must ______ in status of soul

3.  Risk of ___________________

3.  Success _______________

4.  Incomplete __________________

4.  Complete renunciation is to ____ everything for Krishna

5.  ______ the root, Vishnu


5.  Water the _____________

6.  Become ___________ from matter

6.  Become attached to __________

7.  Dry _____________brings no happiness
7.  Brings happiness

8.  Senses restricted



8.  Senses engaged

9.  Takes many __________


9.  Quickly ______________the Supreme

Analogy: Watering the root of the tree.

Ref: 3.1 – 8 

B. Performing work in devotion
1. How to do it

a) no desire for ___________

b) mind and senses _____________

2. Realization

a) material activities are interaction of senses with __________

b) __________ is inactive materially

c) sees all souls as Krishna’s __________; therefore he is _________ of everyone

3. Results

a) never entangled

b) no reactions

c) attains ___________because no anxiety for results

Analogy: lotus leaf untouched by water

C. Relationship between soul, Supersoul and modes
1. The soul _______________
a) the Lord doesn’t interfere

2. The Supersoul __________________

a) those desires that the soul deserves

3. Modes carry out actions to ______________ those desires.

Analogy: City of nine gates.

Analogy: This knowledge compared to rising sun.

D. Comparing the soul and Supersoul
Soul





Supersoul

1.  Eternal





1.  Eternal

2.  Blissful
but ________ when covered by
2.  Blissful, above the ______________
           maya

      3.  _____________ of his body


3.  Cognizant of _______________

      4.  _______, atomic



4.  __________, omniscient

      5.  Has minute _____________ to desire but is   
5.  Complete __________________

           dependent upon Supersoul to fulfill desires

      Defeats: After liberation the soul becomes God. How?

      If a living entity is God, then how can he become bewildered by maya?

      Analogy: Soul is in Material Ocean being tossed by waves of modes

      Ref: 13.20 – 23.

E. Symptoms of transcendence
1. Equal ______________ of all living entities

2. No ______________ or lamenting

3. Detached from material pleasure because __________________________________

4. Tolerates urges of senses, desire and ________________

5. Works for _______________ of everyone.

6. Fixed meditation on __________________.

Analogy: Meditation, etc. of tortoise, fish and bird compared to devotee meditating on Krishna

Ref: 14.22 – 26, 18.54

Chapter 6 WORKSHEET
A. Two levels of yoga practice

1. Yogaruruksu - _____________________ stage

a) work, cultivating detachment

b) also practicing __________, etc.

2. Yogarudha - ______________________ stage

a) when pratyahara is perfect

b) stop ____________ (dhyana)

B. Mind Control

1. The uncontrolled mind as ______________

a) follows _____________ of lust, anger, illusion, etc.

b) pursues sense gratification

c) _______________ us, entangles us

2. The controlled mind as friend
a) follows dictation of _______________

b) ________________ sense gratification

c) ________________ us

C. Yoga Practice

1. Sacred place

2. Alone

3. Celibacy

4. Fearless

5. Senses ______________

6. Determined

7. Withdraw the mind from ________________________ and

8. Focus the mind on _______________

Analogy: lamp in a windless place.

Analogy: Determined sparrow helped by Garuda

D. Realization of the yogi

1. Boundless ________________

2. Can’t be shaken

3. Sees _______________ of all beings

4. Sees _______________ in all beings and all beings in Him

5. Understands Supresoul is _______________

Result:

6. Engages in devotional service

E. Astanga Yoga rejected by Arjuna

Why?

1. ______________ too difficult to control

a) restless, unsteady, flickering

b) agitated, turbulent

c) obstinate

d) very strong

Analogy: Mind control more difficult than controlling wind.

Analogy: Soul, passenger in car of body.

Krishna’s answer: mind control is possible. How?

1. By practice

a) nine processes of bhakti, especially ______________

2. Detachment

a) comes from _______________

Analogy: Lightning fire while pouring water on it

F. Fallen yogi

1. After short practice

a) enjoys on _____________ planets

b) then takes birth in _______________ or pious family

2. After long practice

a) birth in family of ________________

b) automatically attracted to _______________ principles

c) revives previous level of spiritual consciousness

G. Comparison between

Karma, Jnana, Astanga, etc. 

and 

Bhakti-yoga
1.  Are different steps on yoga ladder

1. Goal of yoga or top step

2.  Practitioners have material desires

2.  Become free from material desires

3.  May fail to achieve success

3.  Gauranteed success

4.  Practitioners stick to one point and 
4.  Make progress because the means

     fail to make progress


     and the ends are the same

H. Topmost yogi is bhakti-yogi

1. Great ____________ in Krishna.

2. Takes shelter in Him.

3. Always __________ of Him.

4. Renders loving service.

